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PART—II
( COMPUTER SCIENCE )

41. What does the control unit
generate to control other units?

(A) Command signals
(B) Timing signals
/&6( Control signals
(D) More than one of the above

(E) None of the above

42. Which of the following is user-
defined header file extension
used in C++?

(A) cpp
(B) hg
el h
(D) More than one of the above

(E) None of the above

43. The most common addressing
technique employed by a CPU is

(A) indirect

(D) More than one of the above

(E) None of the aboye

18/HV/M-2023-26 CSC (H8)/38.p

@ What will happen if the following
C++ statement is compiled and
executed?

int *ptr = NULL;
delete ptr;
The program is compiled
and executed successfully
(B) The program is  not
semantically correct
(C) The program
compile-time error

(D) More than one of the above
(E) None of the above

gives a

45. In various devices, are
used to overcome the difference

in data transfer speed.
) buffer registers

(B) multiple buses

(C) speed-enhancing circuitries
(D) More than one of the above
(E) None of the above

\‘45' What do we use to extend the

connectivity of the processor
bus?

(A) Multiple bus

/@f PCI bus

(6) SCSI bus

(D) More than one of the aboye
(E) None of the above

Il (00 0 0O 00 1



47. In memory mapped 1/0

(A) the 1/O devices have a
separate address Space

(Bf the 1/O devices and the
memory share the same
address space

=2

(C) the memory and 1/0 devices
have an associated address

space
(D) More than one of the above

(E) None of the above

49. Which of the following correctly
declares an array in C++?

(A) int array;

(B) array{l10};
(@] int array[10];

(D) More than one of the above

(E) None of the above

50. SQL views are also known as
A
/{M virtual tables

(B) simple tables

-
Tg‘.\-“' (C) complex tables
E1p 101

48. What is the addressing called
that is used in an gnstruction of
the form ADD X Y?

(A) Index

(B) Indirect

,(z]/ Absolute

(D) More than one of the aboye

(E) None of the above

18/HV /M-2023-26 CSC (HS)/38-D

;|

(D) More than one of the above

(E) None of the above

51. How many primary keys can
be there in a table?

(C) Depends on number of
columns

(D) More than one of the above

(E) None of the above

1IN




52. What will be the output of the

owing is not a

54, Which of the followin
valid aggregate function?

following C++ code?
#include<iostream= j‘ﬂ/ /COMPUTE
#include<string> UNT

B) CO

using namespace std; L

int main(int arge, char (C) SUM

const *argv] |)
(D) More than on¢ of the above

{
char s1[6]=“Hello”;
char s2[6]=*World";

(E) None of the above

char s3[12]=s1+" "+s2; §5. Who is the father of computer?
cout<<s3; /(A]/Charlcs Babbage
return 0, &) E .
e (B) James Gosling
} sl
(C) Dennis Ritchie
(A) World
(D) More than one of the above
(B) Hello
E) No : ;
(©) Error (E) None of the above
(D) More than one of the above
@ If we have not specified ASC or

’LE(NOne of the above DESC after an SQL ORDER BY
clause, which of the following is
used by default?

53. Which of the following is not

constraint in SQL? (A) ASC
(A) Not null

(B) DESC
(B) Primary key

/&)/ Union f‘e]/ There is no default valye

(D) More than one of the < (D) More than one of the above

(E) None of the ahove (E) None of the aboye
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In IA-32 architecture along with

the general flags, which of the
following conditional flags is

provided?
(A) IOPL
(B) TF

g!C) IF

(D) More than one of the above

(E) None of the above

Which of the following is true
about the HAVING clause?

(A) Similar to WHERE clause
but is used for rows rather
than. columns

(B) Similar to the WHERE
clause but is used for
columns rather than groups

) Similar to WHERE clayse
but is wused for groups
rather than rows

(D) More than one of the above

(E) None of the above

18/HV/M-2023-26 CSC (Hs)/3g.p

ssing the 1/O

f acce :
59. Themethod © 850 0 checking

devices by repeate
the status flags 18

W * memory-mapped 1/0

/[B) program-controllcd 1/0
() 1/ O-mapped 1/ O
(D) More than one of the above

(E) None of the above

- @ clause creates temporary

relation for the query on which it
is defined.

(A) FROM
(B) WITH
¢(C) WHERE
(D) More than one of the above

(E) None of the above

..;)@ The SQL statement

20

SELECT ROUND (65.726, -1)
FROM DUAL;

prints
(A) garbage
«(B) 70
(©) 726
(D) More than one of the above

(E) None of the above
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= @ The matrix contains m rows and
n columns. The matrix is called

Sparse Matrix if

o [A) total number of zero
elements = m+n

(B) total number of zero
elements > (m*n)/2

(C) total number of zero
elements = m/n

(D) More than one of the above

(E) None of the above

63. command makes the
updates performed by the
transaction permanent in the
database.

/m/COMMIT

(B) ROLLBACK

(C) TRUNCATE

(D) More than one of the above

(E} None of the above

18/HV/M-2023-9¢ CS¢ (HS) /38-D

64. Which of the following is the

basic approach for joining

tables?
~
/(Aj/ Natural JOIN

(B) Union JOIN
(C) Subgqueries
(D) More than one of the above

(E) None of the above
65. What is the time complexity of

an infix to postfix conversion
algorithm?

«A) O(N)
(B) O(Nlog N)
(C) O(N?)
(D) More than one of the above

(E) None of the above

66. Which of the following is the

advantage of the array data
structure?

/L&f/ Easier to access the

elements in an array

(B) Elements of mixed data
ypes can be storeq

(C) Index of the first element
starts from 1

(D) More than gne of the above

(E) None of the above
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dition to be

67. Which data structure is mainly 70. The necessary dc?:tion ey
used for implementing the checked before a€
recursive algorithm? queue is
/(A‘I/ Stack /(Af /underﬂow
(B) Queue (B) overflow
(C) Binary tree () rear value

(D) More than one of the above (D) More than one of the above

(E) None of the above (E) None of the above

68. What is the postfix expression
for the corrcsponding inf _s)@ After performing following set of

expression? operations, what does the final
h Bkl list look contain? W%z%ggw
InsertFront(10); P
%1 (5]
(A) abc+ = de* + InsertFront(20), {éﬂlﬁg}
e . InsertRear(30); i
s * 4+
AB) abe* +de DeleteFront(); £ R

(C) a+bec*de+* InsertRear(40); _,[__ S\

(D) More than one of the above inertRear(10); == i
DeleteRear( );

(E) None of the above InsertRear(15);
display( ); N

69. Which one of the following is not
the type of queue? (A) 20 30 40 15

(A) Circular queue
-
_B) Linear queue

(C) Double-ended queue

(B) 10 30 10 15

(C) 10 30 40 15

(D)

(D) More than one of the aboye More than one of the above

(E) None of the above (E) None of the aboye
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What is the functionality of the

72. A linear data structure in which ; : e
insertion and deletion opera- @ following piece of CO. o
tions can be performed from public void fun(int 3
both the ends is {

q1.offer(x);

(A) circular gueue }
(5} -qucne (A) Perform push() \\-'i?h pop as
| | the costlier operation

}Q( eqye (B) Perform push() with push

costlier operation
(D) More than one of the above as the

(C) Perform pop() with push as
[Ei=Noos BEtis Sete the costlier operation

(D) More than one of the above

Jf@ If circular queue is implemented
using array having /| size (E) None of the above

MAX_SIZE in which array index
starts with 0, front points to the
first element in the queue, and 75, Which one
rear points to the last element in
the queue. Which one of the

of the following
technigues is-not used in the

. d a r b' J
following conditions is used to (=l 2 -
specify that the circular queue is ?‘f
empty? {A)Preorder-traversal
(A) Front=rear=04«
/{ﬁj Randomized traversal

(B) Front=rear= -1

(C) Postord
e order traversal
(D) More than one of the < (D) More than one of the above

(E) None of the ahgye (E) None of the above

18/HV /M-2023- ) e
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76. Which of the following 18 not a

feature of DBMS?
(A) High-level of security

(B) Minimum duplication and
redundancy of data

/(E)/ Single-user access only
(D) More than one of the above

(E) None of the above

4@. Which of the following state-

ments is not true about the
doubly linked list?

(A) ' It requires extra space;

(B) We can traverse in both the
directions.

. (C) Lf:nplementation of doubly
linked list is easier than the
singly linked list.

(D) More than one of the above

(E) None of the above

18/HV/M-2023-26 CSC (15)/38.p

78.

79.

80.

2 IINNOEER g g

caring in_given
% le in the

The values ap
attributes of any R

referencing relation n.u.:s‘;
likewise occur in specifie
attributes of at least one tl.'lplc
in the referenced TclaUcfn,
according O integrity
constraint.

(A) primary

F

_B) referential
(C) referencing
(D) More than one of the above
(E) None of the above

Which of the following options is
not true about the binary
search tree?

(A) The value of the right child
should be greater than the
root node.

(B) The value of the left child
should be less than the root
node.

/
/(,2[ The left and right subtrees
should also be ga binary
search tree.

(D) More than one of the above
(E) None of the aboye

The expression Y=AB+BC+AC
shox/vs the Operation,

Al sop
(B) EX-OR
(C) POS

(D) More than one of the above
(E) None of the above




an be used
81. What are the canonical forms of 83. Boolean algebra ¢
sions? .
Boolean expres i + silding 108 symbols
(A) NOR and XNOR B) for designing the digital
computers

(B) OR and XOR
(C) in circuit theory

SOM and POM
/ej/ ,LB( More than one of the above

f the abov
(D) More than one of the above = e ot the e

(E) None of the above
84. What does the control unit

generate to control other units?

ﬂ‘@ Derive the Boolean expression (A) Command signals

for the logic circuit shown :
(B) Transfer signals

below :
/{(ZT Control signals
A

i (D) More than one of the above

g (E) None of the above

(A) [C(A+B)D+ EY 85. To display ‘time in railway
stations which digital circuit is

(B) C(A+B)DE e

)3) Eight-segment encoder

(©) [IC(A+B)DIE (B) Seven-segment decoder

(C) 8:3 -
(D) More than one of the above | multiplexer

(D) More than one of the above

(E) None of the abgve (E) None of the apgy
€

18/HV/M-2023-
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86.

87.

88.

What kind of transmission
medium is most appropriate to
carry data in a computer
network that 1is exposed to
electrical interference?

/(}d/ Optical fiber
(B) Unshielded twisted pair
(C) Coaxial cable
(D) More than one of the above

(E) None of the above

Which network topology
requires a central controller’ or
hub?
(A) Mesh
e
(C) Ring
(D) More than one of the:above
(E) ‘None of the above
A collection of hyperlinked

documents on the Internet
forms the

(A) e-mail system

/45( World Wide Web (WWW)

(C) mailing list
(D) More than one of the above

(E) None of the above

18/HV/M-2023-26 CSC (HS)/38-D

: i ta
{lowing 18 10
__g@. Which of the};:ader translation

pmcedufe?
(A) The valuc 2 d“:ﬁ
priority field is discarce

6 mapped address is
Pv4 address
e rightmOSI

(B) The IPV
changed to an |
by extracting th

32 bits

(C) The IPv6 flow label 1is
considered

] Em (D) More than one of the above

(E) None of the above

90. Which one of the following
would breach the integrity of a
system?

Full  access rights for all
users

(B) Locking the room to prevent
theft

(C) Fitting the system with an
anti-theft device

(D) More than one of the above

(E) None of the aboye
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91

92.

. Which sublayer of the data link
layer performs data link
functions that depend upon the
type of medium?

Media access control
sublayer
(B) Logical link control sublayer
(C) Network interface control
sublayer
(D) More than one of the above
(E) None of the above
Which one of the following is not
a network topology?
(A) Ring

/(B(Pccr-to peer

(C) Bus

(D) More than one of the above

(E) None of the above
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93, How d

3}% 94,

95.

and classes

o structures

In structures: members are

ublic by default, Whex-'cas,
i}l classes, they are private
by default

(B) Structurcs by default hide

every member  whereas
classes do not
cannot have

(C) Structures
private members, whereas

classes can have
(D) More than one of the above

(E) None of the above

When the mail server sends mail
to other mail servers it becomes

/[Af' SMTP server

(B) SMTP client
(C) peer
(D) More than one of the above

(E). None of the above

The length of an IPv6 address is
(A) 64 bits
(B) 32 bits
(C) 256 bits

(D) More than one of the above

-

_{BJ” None of the above
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97.

o)

What is the use of ios:itrunc
mode?

(A) To open a file in output
mode

(B) To open a file in input mode

(C) To truncate an existing file
to zero

(D) More than one of the above
(E} None of the above

Which layer of the TCP/IP stack
corresponds to the OSI model
transport layer? '
(A) Application

(B) Host-to-host

/]Z]/ ‘Intcrnct

(D) More than one of the above
(E) None of the above

Which of the following
statements is/are correct?

1. It is'not possible to combine
two or more files opening
mode in open() method.

2. Itis possible to combine two
or more files opening mode
in open( ) method.

3. ios:in and ios:out are
input and output file
opening modes re spectively,

(A) 2,3

B) 1, 3

(C) 3 only

(D) More than one of the aboye
(E) None of the aboye

18/HV/M-2023-26 CSC (H8)/38-D

99. Which of the follo

wing is true
to the ping

with regard
command?

A) The ping command Ch?c.ks
- the port level connectivity
between Source destina-

tions endpoints.

(B) Ping stands for Packet

Internet Generator.

(C) Ping summarizes the packet
loss and round-trip delay
between two IP endpoints.

_{BJ More than one of the above

(E) None of the above

~$(100. The -correct statement for a

function that takes pointer to a
float, a pointer to a pointer to a
char and returns a pointer to a
pointer to an integer is

(A) int=fun(float*, char *)

(B) int*sfun(float *%, char #%)
(C) ints*fun(float*, char k)

(D) More than one of the above

(E) None of the above
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101. The private key in asymmetric

key cryptography is kept by
/jﬁf(’ receiver

(B) sender

(C) sender and receiver

(D) More than one of the above

(E) None of the above

102. What will be the output of the
following C++ code?
#include<iostream>
using namespace std;

%l-'”_"j\ long factorial (long a)
ot {
, if (a>1)
%,‘9’/ return (a * factorial (a+1));
else
: return(l);
7 }

int main( )

e ST

{
long num = 3;
cout <<numc<<“l="<<factorial

(num);
return 0;

}
s
(B) &
(C) Segmentation fault
(D) More than one of the above

(E) None of the above

18/HV /M-2023-26 CSC (HS)/38.p

foll owing features
rted by any

103. Which of the

must b€ Suppc;anguage £l
rogl’amming :act-oriented
e apute 0T

om
;:;;rammmg language?

(A) Inheritance
(B) Encapsulation
(C) Polymorphism
‘(D)/i/[orc than one of the above

(E) None of the above

104, Which is correct syntax of

inheritance?

_/;:{A) class derived classname
access base.classname
{/*define class body* /};

w fB) class  base classname
access dcrived_classname
{/*define class body* /};

(C) class derived_classname

base_classname {/*define
class bodys /};

(D) More than one of the above

(E) None of the above
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can be
; he folloY
105. Which one of the following is the 107. Which of L:tce 2 et Clé.iSS
correct definition of “is_array( );" used to ¢re€ - rogramming
function in C++? in the
language?

(A) It checks that the specified /,- e et
S S e e the base€ class
or not functiﬂrl in

irtual
‘ . eing the pure virtu

JB)JticHechs hat the specified (B) By u§1ngm thepclass
variable is of the array or function
not | |

AC) By declaring the virtual
keyword afterward the class

(C) It checks that the specified
array is of multi-dimension
or not

declaration

(D) More than one of the above

(D) More than one of the above
(E) None of the above

(E) None of the above

108. Which of the following state-
ments is correct about the C++

106. Which of the following state- ;
programming language?

ments is correet about the

class?
(A) In C+#+, member function

are allowed to be of the type

(A) Aclass is an instance of its const,

object,

: In C++, both th i
(B]/An object is an instance of iéi.i.f?:}? /(E’T S and
WhHL

o dynamic types checking are

its class, allowed
(C) An object is the instance of (C) In C++ |
: d . . .
the data type of that class. allowed. S
(D) More than one of the above (B) More than one of the a1,
apove
(E) None of the above (E)

None of the above
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109. Which feature of OOP is
indicated by the following code?

class student{int marks;};
class topper: public student{int age;
topper(int age) {this.age=age;}};

)A‘)/Inhcritancc and polymor-
phism

(B) Encapsulation and inheri-
tance '

(C) Polymorphism
(D) More than one of the above

(E) None of the above

110. Which of the following natural 5]
elements is the primary element %’%
in computer chips? iy

/(Ir( Silicon

(B) Carbon

(C) Iron

(D) More than one of the above
(E) None of the above

111. Which of the following is a
technique that marks the
beginning of computer commu-
nications?

/(A)/ Batch Environment

(B) User Environment

(C) Time Sharing

(D) More than one of the above

(E) None of the above

112.

113.

is better for

. age
Whlch langu g d COde?

writing structure
(A) FORTRAN
(B) PASCAL

_ley” BASIC

(D) More than one of the above

(E) None of the above

Which language does a browser
use to display information from

the World Wide Web?

(A) Assembly language

(B) Machine code

(C) C++

(D) More than one of the above

,{'ET None of the above

114, Select the true statement for

compiler,

(A) It translates the source

code into object code as a
whole,

(B) The input of the compiler is
source program,

(C) The output of the compiler

s object code.
/q/ More than one of the above

(E) None of the aboye
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115.

116.

TIT.

18/HV/M~2023-26 CSC (HS)/38-D

is used to shift processes
so they are contiguous, and all
free memory is in one block.

A "Compaction

-

(B) Fragmentation

(C) External Fragmentation
(D) More than one of the above

(E) None of the above

Which of the following is not a
valid wvariable name in most
programming languages?

A 123Variable
(B) myVariable
(C) _myVariable
(D) More than one of the above

(E}, None of the above

Secondary memory is the long-
term store for programs and
data while main memory holds
program and data currently in
use. What kind of an organiza-
tion 1s this?

(A) I.;ogica.l
/48‘)/ i’hysical
(C) Struetural
(B) More than one of the above

(E) None of the above

g

EEE

118.

119.

120.

n is not used at the

If a semicolo

d of the statement, what
en il be displayed by
message Will
C++7
(A] Statement missing
(B) Semicolon missing
(C) Error in statements
(D) More than one of the above
(E) None of the above
A set of librarics that provides
programmatically ~access 10
some kind of graphics 2D
functions is
(A) Formatting package

/[B]/ Graphics package
(C) Animation package
(D) More than one of the above

(E) . None of the above

Which shortcut key is used to
compile and Tun the program
in C++?

(A) Alt+FS
(B) Alt+F9
ﬂ_gfi’/" Ctrl+F9
(D) More than one of the above

(E) None of the aboye
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